

# Converting Fahrenheit to Celsius (B)

Estimate or convert the temperatures.

$50^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-43^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-46^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$55^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$64^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-37^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$33^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-97^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$70^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$1^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-65^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$75^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-34^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-27^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-75^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$44^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-42^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$42^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-13^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$93^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-83^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-94^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$14^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$52^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$61^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-64^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-77^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-98^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$43^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$